BK S:t Erik
Guld-IAF 2014-05-10

IMP over faltet, 21 bord, 42 par. Antal brickor: 57.

Plac Par Poang Namn MID Klubb
1 30 1974 Bjorn Wenneberg - Goran Selldén 1912 4863  BK Lyx B
2 14 1622 Adam Stokka - Johan Karlsson 30515 32229 BK Bjorken - Overums BK
3 3 926 Anders Morath - Tommy Gullberg 4664 9047 BK S:tErik
4 33 887 Bengt-Erik Efraimsson - Anna Zack Efraimsson 127 4049 BK S:t Erik
5 32 879 Johan Séfsten - Ola Rimstedt 35452 88183 Uppsalabridgen - Harplinge BK
6 7 869 Marten Gustawsson - Tommy Strindfors 8699 818 BK S:t Erik
7 34 650 Daniel Eriksson - Rolf Scherdin 24659 3102  Gavle BK
8 25 562 Johan Wabhlberg - Fredrik Wahlberg 23539 20396 BK S:tErik
9 16 524 Peter Carlsson - Per Leandersson 11594 87992 BK S:t Erik
10 17 461 Simon Bech - Géran Hammarstrom 87173 11426 BK S:tErik
11 42 371 Stefan Ekman - Per Clarin 18318 10538 BK S:tErik
12 38 313 Peter Lundstedt - Christer Glimsjo 5004 690 Hovmantorps BK
13 2 226 Mikael Lindblom - Mari Lindblom 5094 996 BK S:t Erik
14 18 200 Hakan Lindblom - Magnus Ekman 1437 6926  BK S:t Erik
15 40 183 Fredrik Alfredsson - Mattias Weiler 83200 11482 BK S:tErik
16 41 171 Catharina Ahlesved - Maria Gronkvist 7124 1076  Orebridgen
17 22 143 Dan Bylund - Helena Stromberg 8223 12565 Sundsvallsbridgen
18 24 139 Emma Sjoberg - Mats Sjoberg 80922 1198  Filbyter Bridge
19 26 122 Urban Mentzer - Gudrun Strandberg 11111 4143  Arvika BS - Arla BK
20 29 79 Gunnar Andersson - Thomas Magnusson 18507 3693 BKALERT
21 28 49 Bo Ericson - Lars Ericson 2962 12536 Gavle BK
22 19 12 Hans Lerner - Jan Brannvall 166 14003 BK Bjorken B
23 1 -45 Krister Ahlesved - Johan Gronkvist 13995 8342  Uppsalabridgen - Orebridgen
24 6 -88 Gunnar Lindell - Pontus Svinhufvud 16249 7407  Katrineholms BA
25 13 -275 Lars Andersson - Kenneth Borin 5351 2076  BK S:t Erik
26 5 -328 Mikael Rimstedt - Johnny Ostberg 88184 2051 Harplinge BK - BK S:t Erik
27 11 -346 Urban Bjorklund - Johnny Johansson 9496 6116  Gavle BK - Malungs BK
28 20 -455 Erik Gulliksson - Jens Brodin 24169 84125 Karlstads BK
29 9 -510 Bengt Lauthers - UIf Lindgren 32610 89486 BK S:tErik
30 10 -534 Michael Lemborn - Ylva Strandberg 1215 9217  Karlstads BK - Arla BK
31 39 -541 Peggy Nyholm - Lillemor Strindberg 51632 8806  Arvika BS - Arla BK
32 35 -577 Suzanne Lemborn - Tore Stormo 14984 78250 Karlstads BK - Arla BK
33 15 -606 Per-Arne Karlsson - Anna Roos 1246 4289  Karlstads BK
34 12 -620 Borje Rudenstal - Andreas Konyves 2336 4590 BK S:t Erik - LUCK
35 4 -649 Erika Rodin - Niklas Warne 93303 15344 BK S:t Erik - Uppsalabridgen
36 37 -702 Magnus Arve - Sigvard Carlefred 40423 45885 BK S:tErik
37 23 -731 Mikael Gronkvist - Daniel Gullberg 85230 37167 BK S:tErik
38 8 -786 Simon Ekenberg - Simon Hult 41685 36107 Overums BK
39 31 -813 Karola Hogberg - Lars Lilja 17222 4118  Orebridgen
40 36 -832 Johan Nilsson - Jesper Tornlund 13918 804 BK S:t Erik
41 21 -867 Olle Wademark - Tommy Bergdahl 14800 2181  Nasby BS - Uppsalabridgen
42 27 -1117  Jessica Larsson - Kathrine Bertheau 17400 81089 Filbyter Bridge
1 «E974 2 4 K93 3 4 Kn3
Nord v 1097 Ost v 864 Syd vE2
Ingen + D10643 NS 4753 ov + KKn9632
43 #Kn1072 #986
4Knl06 485 « D86 4 Kn5 « D75 & K642
vK4 v EDKn853 vD1052 vEK3 vKn4 vD9765
¢ EKKN5 498 498 + ED1064 + 104 +8
#Kn1085 #ED2 #KD83 #E54 #ED7542 #K103
4 KD32 4 E10742 « E1098
v 62 vKn97 v K1083
72 ¢ KKn2 ¢+ ED75
#K9764 #96 #Kn
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr ut Res Poang
34 9 3NV= 45 -400 20.0 -20.0| 6 37 44 V-1 43 50 190.0 -190.0 (17 26 5¢ S+1 vJ 420 116.0 -116.0
340 4v O= %6 -420 -1.0 1.0(16 27 4v V-1 46 50 190.0 -190.0| 3 40 5¢ S= 45 400 104.0 -104.0
6 37 4vy O= &K -420 -1.0 10| 4 39 3NV= 3 -400 -17.0 17.0| 4 39 5¢ S= ¢4 400 104.0 -104.0
10 33 4v O= &K -420 -1.0 1.0(12 31 3NV= 43 -400 -17.0 17.0|20 23 5¢ S= ¢4 400 104.0 -104.0
12 31 4v O= #K -420 -1.0 1.0(13 30 3NO= &2 -400 -17.0 17.0(32 11 5¢ S= ¢4 400 104.0 -104.0
13 30 4v O= &K -420 -1.0 1.0(15 28 3NV= 3 -400 -17.0 17.0|42 1 5¢ S= ¢T 400 104.0 -104.0
15 28 4v O= 43 -420 -1.0 1.0(17 26 3NV = 43 -400 -17.0 17.0|18 25 INN+3 +J 180 -9.0 9.0
16 27 4v O= K -420 -1.0 1.0|18 25 3NO= 4 -400 -17.0 17.0|13 30 3¢ N+3 vJ 170 -9.0 9.0
18 25 4v O= &K -420 -1.0 1.0(20 23 3NO= &2 -400 -17.0 17.0|22 21 3¢ N+3 v2 170 -9.0 9.0
20 23 4v O= &K -420 -1.0 1.0(22 21 3NV= a2 -400 -17.0 17.0|35 8 3¢ S+3 vJ 170 -9.0 9.0
22 21 49 O= &K -420 -1.0 1.0|24 19 3NV = 43 -400 -17.0 17.0|38 5 3¢ S+3 vJ 170 -9.0 9.0
24 19 4v O= &4 -420 -1.0 10(29 14 3NO= &2 -400 -17.0 17.0|41 2 34 S+3 vJ 170 -9.0 9.0
29 14 4v O= &K -420 -1.0 10(34 9 3NO= &2 -400 -17.0 17.0| 6 37 3¢ S+2 vJ 150 -25.0 250
32 11 49y 0= o7 -420 -1.0 10(35 8 3NV= 43 -400 -17.0 17.0|12 31 4¢ S+1 T 150 -25.0 250
35 8 4v V= oK -420 -1.0 10(36 7 3NV= 43 -400 -17.0 17.0|15 28 3¢ S+2 vJ 150 -25.0 250
36 7 4v 0= &K -420 -1.0 10(38 5 3NO= 44 -400 -17.0 17.0|16 27 4¢ S+1 vJ 150 -25.0 250
38 5 4v 0= ¢7 -420 -1.0 1041 2 3NO= &2 -400 -17.0 17.0|29 14 INN+2 &4 150 -25.0 250
41 2 4v O= &K -420 -1.0 10(42 1 3NV= 43 -400 -17.0 17.0(36 7 INN+2 &4 150 -25.0 250
42 1 4v O= &K -420 -1.0 10| 340 4vO= &2 -420 -36.0 36.0[10 33 3NS-2 &5 -100 -144.0 144.0
439 3NV+1 3 -430 -1.0 1.0|10 33 4v V= 43 -420 -36.0 36.0(24 19 3NS-2 &4 -100 -144.0 144.0
17 26 3NV +1 3 -430 -1.0 1.0(32 11 3NO+1 3 -430 -36.0 36.0(34 9 3NS-2 &5 -100 -144.0 144.0
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4 « E987 5 #8762 6 « D987
Vast vE96 Nord vKn43 Ost v 109
Alla ¢ E98632 NS ¢ 105 ov 49843
»- #10876 #1082
« KKn1062 D4 «EDKn  #K1095 s E4 43
v- v 107432 vK10962 ¢E75 vEDKn7 v863
¢ KDKn *7 ¢ EKn + D873 + ED6 + KKn10752
#EKNn543  #K10762 D93 *54 #Kn654 &KD7
53 «43 « KKn10652
v KDKn85 vD8 v K542
¢ 1054 ¢ K9642 *-
D98 &EKKn2 #E93
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr Ut Res Poang
1 3 54DV-1 ¢A 200 175.0 -175.0|18 27 2y O+2 T -170 115.0 -115.0 (14 31 44 S-2 aA -100  195.0 -195.0
13 32 54DV-1 vA 200 175.0 -175.0|35 10 2vy O+2 T -170  115.0 -115.0 (35 10 44DS-2 +A -300 122.0 -122.0
16 29 54DV-1 vA 200 175.0 -175.0| 1 3 3NV= *T -400 3.0 -3.0(37 8 44DS-2 ¢+A -300 122.0 -122.0
30 15 54DV-1 vA 200 175.0 -175.0| 4 41 3NO= A -400 3.0 -3.0(42 2 44DS-2 +A -300 122.0 -122.0
17 28 3v S= ¢K 140 149.0 -149.0 (14 31 3NO= LY. -400 3.0 -3.0( 1 3 54DS-3 ¢A -500 26.0 -26.0
39 6 3vS= T 140 149.0 -149.0|21 24 3NO= v2 -400 3.0 -3.0( 540 54DS-3 #3 -500 26.0 -26.0
25 20 3¢ N+1 «Q 130 148.0 -148.0|39 6 3NO= A -400 3.0 -3.0(13 32 54DS-3 ¢A -500 26.0 -26.0
42 2 3vS-1 +K -100 77.0 -77.0| 540 4v V= *T -420  -16.0 16.0(19 26 44DS-3 ¢A -500 26.0 -26.0
36 9 3aV+l ¢A -130 66.0 -66.0( 7 38 44 O= A 420  -16.0 16.0(23 22 54DS-3 ¢A -500 26.0 -26.0
14 31 3+ V+2 +A -150 62.0 -62.0(11 34 4v V= *T -420  -16.0 16.0(30 15 54DS-3 ¢A -500 26.0 -26.0
33 12 5¢DN-1 «Q -200 39.0 -39.0|13 32 4v V= *T 420  -16.0 16.0| 4 41 5¢ O+1 T -620 -32.0 32.0
3510 54 0= vA -600 -96.0 96.0|17 28 4v V= &6 420 -16.0 16.0|11 34 5¢ O+1 T -620 -32.0 32.0
11 34 44 V+1 +A -650 -115.0 115.0(19 26 4v V= *T -420  -16.0 16.0|16 29 5¢ V+1 &T -620 -32.0 32.0
37 8 4a V+1 <A -650 -115.0 115.0(23 22 4v V= *T -420 -16.0 16.0(21 24 5¢ O+1 ¢2 -620 -32.0 32.0
4 41 54DV= ©vA -750 -152.0 152.0(30 15 4v V= *T 420  -16.0 16.0(25 20 5¢ O+1 T -620 -32.0 32.0
540 54DV= ©vA -750 -152.0 152.0(33 12 4v V= *T 420  -16.0 16.0|33 12 5¢ O+1 T -620 -32.0 32.0
7 38 54DV = +¢A -750 -152.0 152.0(36 9 4v V= *T -420  -16.0 16.0(17 28 4NV +1 48 -660 -49.0 49.0
18 27 54DO= +A -750 -152.0 152.0(42 2 4v V= *T 420  -16.0 16.0(36 9 3NV +2 8 -660 -49.0 49.0
19 26 54DV = ©vA -750 -152.0 152.0(16 29 3NV +1 T 430 -16.0 16.0(39 6 3NO+2 T -660 -49.0 49.0
21 24 54DV = ¥2 -750 -152.0 152.0(37 8 3NO+1 T -430 -16.0 16.0| 7 38 64aDS-4 +A -800 -118.0 118.0
23 22 5DV = +¢A -750 -152.0 152.0|25 20 3NV +2 T -460 -37.0 37.0(18 27 6¢ O= A -1370 -260.0 260.0
7 « K73 8 « Kn8742 9 « DKn76
Syd v 1073 Vast vKn Nord vKn6
Alla 4632 Ingen 410875 ov + KKn94
#10852 »E62 #K96
4 Kn954 4 ED10862 4E96 410 443  EK10852
vKDKn v6 v9873 vKD10652 vK874  v1095
+KD85 +¢74 ¢ K43 ¢ DKn9 ¢+ D1076 83
294 #KKn63 #DKn7 #K54 #Kn85 4103
a- « KD53 9
v E98542 vE4 vED32
+ EKn109 ¢ E62 ¢ E52
&ED7 #10983 &ED742
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr Ut Res Poang
19 28 44 O-1 A 100 191.0 -191.0|20 27 5vDO-1 4K 100 150.0 -150.0 |14 33 24D O-3 #A 800 169.0 -169.0
20 27 44 O-1 vA 100 191.0 -191.0| 6 41 5v O-1 &K 50 126.0 -126.0 |26 21 24DV -3 ¢J 800 169.0 -169.0
26 21 44 O-1 #A 100 191.0 -191.0|37 10 5v O-1 &K 50 126.0 -126.0|24 23 24DV -2 vJ 500 28.0 -28.0
34 13 44 O-1 vA 100 191.0 -191.0| 8 39 34 N-1 ¥¢K -50 86.0 -86.0|38 9 24DO-2 ¢A 500 28.0 -28.0
14 33 34 O+1 ©vA -170 113.0 -113.0(22 25 34 N-1 vK -50 86.0 -86.0(40 7 24DO-2 #A 500 28.0 -28.0
18 29 34 O+1 YA -170  113.0 -113.0(34 13 34 N-1 +Q -50 86.0 -86.0| 5 1 3NN+2 *T 460 7.0 -7.0
36 11 3v S-2 45 -200 98.0 -98.0(|42 3 34 N-1 ¢K -50 86.0 -86.0(|34 13 3NN+2 &5 460 7.0 -7.0
8 39 4vS-3 vK -300 63.0 -63.0( 5 1 44N-2 vK -100 58.0 -58.0| 2 4 3NN+1 &5 430 -12.0 120
2 4 3vDS-2 vK -500 -22.0 22.0(26 21 44DN-1 vK -100 58.0 -58.0( 6 41 3NN+1 &5 430 -12.0 120
5 1 44 0= vA -620 -68.0 68.0(31 16 44 N-2 vK -100 58.0 -58.0( 8 39 3NN+1 45 430 -12.0 12.0
6 41 44 O = vA -620 -68.0 68.0|15 32 2v O+2 #T -170 21.0 -21.0|12 35 3NN+1 &5 430 -12.0 120
12 35 44 O= vA -620 -68.0 68.0(18 29 44DN-2 vQ -300 -41.0 41.0(15 32 3NN+1 &3 430 -12.0 120
15 32 44 V= vA -620 -68.0 680 2 4 4v O= &K -420 -100.0 100.0 (17 30 3NS+1 «4 430 -12.0 12.0
22 25 44 O= vA -620 -68.0 68.0(12 35 4v O= &K -420 -100.0 100.0 19 28 3NN+1 &5 430 -12.0 120
24 23 44 O = vA -620 -68.0 68.0(14 33 4v O= &T -420 -100.0 100.0 {22 25 3NN+1 &3 430 -12.0 120
31 16 44 O= vA -620 -68.0 68.0(17 30 4v O= &K -420 -100.0 100.0 (31 16 3NN+1 &7 430 -12.0 12.0
37 10 44 O= vA -620 -68.0 68.0(19 28 44 O= a K -420 -100.0 100.0 36 11 3NN+1 ¥9 430 -12.0 120
42 3 3NV+1 3 -630 -72.0 72.0(24 23 4v O= &T -420 -100.0 100.0 ({37 10 3NN+1 &5 430 -12.0 120
38 9 44DO= VYA -790 -141.0 141.0(36 11 4v O= &K -420 -100.0 100.0{42 3 3NN+1 «T 430 -12.0 12.0
40 7 44DO= vA -790 -141.0 141.0(38 9 4v O= &K -420 -100.0 100.0 (18 29 3« N+2 &4 150 -146.0 146.0
17 30 5vDS-4 vK -1100 -231.0 231.0|40 7 4v O= &K -420 -100.0 100.0 |20 27 3#S+2 &4 150 -146.0 146.0
10 « EKKN763 11 « KD96 12 #8732
Ost v42 Syd v E1092 Vast v K7
Alla ¢2 Ingen + D93 NS ¢ EKn53
#D852 &52 &K65
4D 41082 4Knl08 472 » EK6 4104
vKD10873 ¥Kn v 863 vKn754 vE4 v DKn103
¢ Kn94 + K10873 410876 ¢ EKKn2 + KD84 410972
K74 #EKN63 #964 *E107 #EKNn102 #743
# 954 # E543 4« DKn95
v E965 vKD v 98652
+ ED65 +54 +6
#109 #KDKn83 D98
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr ut Res Poang
18 31 44DN= %J 790 176.0 -176.0| 3 5 44 S+2 ¢3 480 36.0 -36.0(13 36 3NV-2 48 100 51.0 -51.0
42 4 44DN= 9J 790 176.0 -176.0| 7 1 44 S+2 v3 480 36.0 -36.0(|27 22 3¢ V-2 4«3 100 51.0 -51.0
3 5 44 N+1 vJ 650 128.0 -128.0|20 29 44 S+2 v3 480 36.0 -36.0(|37 12 3NV-2 «3 100 51.0 -51.0
7 1 44 N= vJ 620 109.0 -109.0|37 12 3NS+2 &J 460 16.0 -16.0(38 11 3NV-2 48 100 51.0 -51.0
9 40 44 N= vJ 620 109.0 -109.0| 9 40 44 S+1 v3 450 16.0 -16.0({41 8 3NV-2 43 100 51.0 -51.0
13 36 44 N= vJ 620 109.0 -109.0|13 36 44 S+1 48 450 16.0 -16.0(42 4 3NV-2 43 100 51.0 -51.0
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15 34 44 N= vJ 620 109.0 -109.0 (16 33 44 S+1 4J 450 16.0 -16.0[ 3 5 2NO-1 438 50 150 -15.0
16 33 44 N= vJ 620 109.0 -109.0 {18 31 44 N+1 ¢A 450 16.0 -16.0( 7 1 2NV-1 &3 50 15.0 -15.0
23 26 44 N= vJ 620 109.0 -109.0 (32 17 44 S+1 v4 450 16.0 -16.0| 9 40 3NV-1 438 50 15.0 -15.0
25 24 44 N= vJ 620 109.0 -109.0 (35 14 44 S+1 44 450 16.0 -16.0(16 33 3NV-1 &7 50 150 -15.0
6 2 24 N+1 vJ 140 -78.0 78.0(38 11 44 S+1 ¢7 450 16.0 -16.0(18 31 2NO-1 &7 50 15.0 -15.0
20 29 34 N= vJ 140 -780 78.0(42 4 44 S+1 48 450 16.0 -16.0|21 28 2NV-1 v2 50 15.0 -15.0
21 28 34 S= v2 140 -780 780| 6 2 44 N= ¢A 420 -5.0 50(23 26 2NV-1 &7 50 150 -15.0
35 14 24 N+1 vJ 140 -78.0 78.0|19 30 44 S= ¢7 420 -5.0 5025 24 29y V-1 &3 50 15.0 -15.0
38 11 34 N= vJ 140 -78.0 78.0(21 28 44 S= v2 420 -5.0 5.0(39 10 2NV-1 &3 50 15.0 -15.0
41 8 34 N= vJ 140 -78.0 78.0|23 26 44 S= ¢7 420 -5.0 50( 6 2 INV= a2 90 -63.0 63.0
39 10 4v V-1 «A 100 -96.0 96.0|25 24 44 S= ¢7 420 -5.0 50(19 30 INV= 48 90 -63.0 63.0
19 30 44 N-1 vJ -100 -161.0 161.0(|27 22 44 S= +8 420 -5.0 5.0(32 17 INV= 3 90 -63.0 630
32 17 44 N-1  vJ] -100 -161.0 161.0|39 10 44 S= ¢7 420 -5.0 5.0(15 34 INV+1 &3 -120 -84.0 84.0
37 12 44 N-1 v -100 -161.0 161.0|41 8 44 S= v3 420 -5.0 50(20 29 INV+1 5 -120 -84.0 84.0
27 22 44DN-1 vJ -200 -196.0 196.0|15 34 44 S-1 3 -50 -212.0 212.0|35 14 2NV = +5 -120 -84.0 84.0
13 « 854 14 » 86 15 4 K872
Nord v D986 Ost v EKn52 Syd v E97
Alla 410632 Ingen ¢ EKn953 NS + DKn86
#63 #105 *75
41032 «EK7 4 KKn974 4D2 D10 4 Kn54
v1042 vEKn v109876 vD43 v 108652 v KD4
¢ Kn95 ¢ EKS8 *- ¢ KD10642 ¢ K92 ¢E75
#EK75 #D10842 #K73 *E4 #1063 #DKn98
« DKn96 «E1053 « E963
v K753 vK vKn3
¢ D74 +87 ¢1043
#Kn9 #DKn9862 #EK42
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr ut Res Poang
1 9 3NO+1 «Q  -630 90 -9.0(14 37 3NDO-5 #Q 1100 282.0 -282.0(17 34 24 N+2 #Q 170 21.0 -21.0
4 6 3NO+1 «Q  -630 9.0 -90| 7 3 3vDV-2 «T 300 94.0 -94.0|38 13 24 S+2 +2 170 21.0 -21.0
10 41 3NO+1 «Q  -630 90 -90( 8 2 3NDV-2 «T 300 940 -940| 1 9 24S+1 v6 140 20 -20
16 35 BNO+1 & -630 90 -9.0(24 27 3¢DO-2 vK 300 940 -940| 4 6 24 N+1 +4 140 20 -20
20 31 3NO+1 «Q  -630 9.0 -9.0|10 41 34 V-3 T 150 29.0 -290| 7 3 24 S+1 v2 140 20 -20
21 30 3NV+1 #2 -630 90 901 9 3vVv-2 &T 100 10 -10( 8 2 24S+1 v2 140 20 -20
24 27 3SNO+1 «Q  -630 90 -90( 4 6 3¢0-2 vK 100 10 -10(10 41 24 S+1 2 140 20 -20
26 25 3NO+1 «Q  -630 9.0 -9.0|19 32 2¢ O-2 #Q 100 10 -10(14 37 24 N+1 &3 140 20 -20
28 23 3NO+1 «Q  -630 90 -9.0(22 29 34V-2 &T 100 10 -10(16 35 24 N+1 v2 140 20 -20
33 18 3NV+1l 44 -630 90 -9.0(36 15 4v V-2 &T 100 10 -10(20 31 24 S+1 &3 140 20 -20
36 15 3NO+1 «Q  -630 9.0 -9.0|38 13 4v V-2 T 100 10 -10(21 30 24 S+1 v2 140 20 -20
3813 BNO+1 «Q  -630 90 -9.0(39 12 4v V-2 &T 100 1.0 -10(24 27 24 N+1 #Q 140 20 -20
22 29 44 O+1 v2 -650 -12.0 12.0|20 31 24 V-1 8 50 -30.0 30.0(26 25 24 S+1 v2 140 20 -20
7 3 3NO+2 «Q -660 -120 12.0(26 25 34 V-1 &T 50 -30.0 30.0(28 23 34 S= v2 140 20 -20
8 2 3NO+2 «Q 660 -120 12.0({40 11 24 V-1 &T 50 -30.0 30.0(33 18 24 S+1 v2 140 20 -20
14 37 3NO+2 «Q -660 -12.0 12.0(42 5 24 V-1 &T 50 -30.0 30.0|36 15 34 S= v4 140 20 -20
17 34 3NO+2 «Q -660 -12.0 12.0|21 30 3NN-1 v2 50 -77.0 77.0(39 12 24 N+1 #Q 140 20 -20
19 32 3NO+2 «Q -660 -12.0 12.0(33 18 4#S-1 v6 -50 -77.0 77.0(40 11 24 S+1 v2 140 20 -20
39 12 3NO+2 «Q -660 -12.0 12.0|16 35 24 V= &T -110 -102.0 102.0(|42 5 34 N= vK 140 20 -20
40 11 3NO+2 «Q  -660 -120 12017 34 24 V= 46 -110 -102.0 102.0|19 32 INS= v2 90 -38.0 38.0
42 5 3NO+2 v5 -660  -12. 12.0 (28 23 34 V= &T -140 -122.0 122.0|22 29 INS= v2 90 -38.0 38.0
16 & Kn543 17 4« E43 18 463
Vast vK10 Nord v EKn109873 Ost v76
oV ¢ K87 Ingen ¢ Kn7 NS ¢ ED943
#E654 &K #7653
496 « ED1087 « D10 &K 4« EKN109854 -
vDKn862 v74 v D642 v- vED2 v KKn953
+10 ¢ DKn642 ¢ 63 ¢ EK108542 ¢ KKn ¢ 10765
#KD1092 «8 #D10963 #87542 *Kn #E942
4 K2 & Kn987652 «KD72
vE953 v K5 v 1084
¢ E953 ¢+ D9 +82
#Kn73 #EKn #KD108
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr ut Res Poang
2 10 24aDO-2 #3 500 183.0 -183.0| 5 7 44 S= ¢6 420 157.0 -157.0(34 19 5v O-2 v4 100 102.0 -102.0
5 7 24D0O-2 #3 500 183.0 -183.0( 9 3 44 S= ¢6 420 1570 -157.0( 9 3 4e V-1 v7 50 69.0 -69.0
21 32 24DO-2 v2 500 183.0 -183.0|18 35 44 N= ¢5 420 157.0 -157.0|11 1 4v O-1 3 50 69.0 -69.0
25 28 24 O-2 #3 200 63.0 -63.0(22 31 4v N= ¢A 420 157.0 -157.0|15 38 44 V-1 &5 50 69.0 -69.0
37 16 3#V-2 vK 200 63.0 -63.0|41 12 44 S= ¢6 420 157.0 -157.0 (17 36 44 V-1 v7 50 69.0 -69.0
40 13 24 O-2 #3 200 63.0 -63.0(29 24 64DV-2 A 300 108.0 -108.0|18 35 44 O-1 &5 50 69.0 -69.0
42 6 2vDO-1 4K 200 63.0 -63.0( 8 4 54DO-1 vK 100 18.0 -18.0(22 31 44 V-1 v7 50 69.0 -69.0
29 24 2NN = «Q 120 33.0 -33.0(17 36 64DO-1 v2 100 18.0 -18.0|23 30 44 V-1 &5 50 69.0 -69.0
1538 2v0O0-1 43 100 15.0 -15.0(34 19 54DO-1 vK 100 18.0 -18.0(29 24 4v O-1 v4 50 69.0 -69.0
9 3 3¢S-1 a9 50 -540 54.0( 210 4v N-1 +A -50 -46.0 46.0(37 16 44 V-1 v7 50 69.0 -69.0
20 33 3NS-1 «K 50 540 54021 32 54 S-1 v2 -50 -46.0 46.0(39 14 44 V-1 v7 50 69.0 -69.0
22 31 3NN-1 &3 -50 -540 54.0(23 30 54 S-1 +6 -50 -46.0 46.0(40 13 44 V-1 v7 50 69.0 -69.0
23 30 3NS-1 «K -50 -54.0 54.0(40 13 44 S-1 +5 -50  -46.0 46.0 (41 12 44 V-1 &5 50 69.0 -69.0
27 26 2NN-1 +3 50 540 540(42 6 54 S-1 +6 -50 -46.0 460( 2 10 34 V= v7 -140 -23.0 23.0
34 19 3¢ N-1 5 50 540 54011 1 5vN-2 +A -100 -77.0 77.0| 8 4 3a V= &5 -140  -23.0 23.0
39 14 2NN-1 2 -50 -54.0 54.0(25 28 5v N-2 +A -100 -77.0 77.0| 5 7 4vO= &K -420 -143.0 143.0
8 4 2NN-2 a7 -100 -86.0 86.0(27 26 54DS-1 +6 -100  -77.0 77.0|20 33 4v O= &K -420 -143.0 143.0
17 36 2NN-2 v7 -100 -86.0 86.0|37 16 5v N-2 +¢K -100  -77.0 77.0|21 32 4v 0= v2 -420 -143.0 143.0
18 35 2NN-2 9 -100 -86.0 86.0(39 14 5v N-2 K -100  -77.0 77.0|25 28 4v O= 8 -420 -143.0 143.0
41 12 34 N-2 &8 -100 -86.0 86.0(15 38 6vy N-3 v3 -150  -99.0 99.0(|27 26 44 V= ¢ A -420 -143.0 143.0
11 1 3NN-4 a7 -200 -127.0 127.0|20 33 5¢DO= v¥K -550 -233.0 233.0(42 6 4v O+2 &K -480 -169.0 169.0
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19 # DKn 20 « KKn2 21 « EKn983
Syd v EK6 Vast v KD5 Nord v EDKn8
oV + 87 Alla ¢ 7652 NS *+ K
#K107642 #753 987
a K4 « E1097532 4 E5 4 D974 a4 « KD105
vKn843 ¢10 v 763 v 10842 vK743 v 652
¢+ D1063 ¢ K95 +3 + EK109 ¢ Kn63 + E10982
#985 #EKn #EKD10862 #4 #KDKn53 #2
» 86 # 10863 4762
vD9752 v EKn9 v 109
¢ EKn42 ¢ DKn84 ¢+ D754
D3 #Kn9 #E1064
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr Ut Res Poang
24 31 44DO-1 v2 200 142.0 -142.0| 3 11 24V +2 vK -130 142.0 -1420| 3 11 24DN+2 #3 1070 261.0 -261.0
113 3v N= A 140 1140 -1140| 6 8 34V +1 &3 -130 142.0 -142.0|19 36 24DN+1 #2 870 222.0 -222.0
19 36 3« N= vT 110 99.0 -99.0(16 39 34 V+1l &3 -130 142.0 -142.0 |40 15 4¢DO-4 42 800 208.0 -208.0
30 25 34 N= vT 110 99.0 -99.0(19 36 2#V+2 45 -130  142.0 -142.0(41 14 24aDN= v2 670 175.0 -175.0
9 5 3vS-1 &K -50 23.0 -23.0(30 25 34V +1l 5 -130 142.0 -1420| 6 8 14DN+1 #2 360 770 -77.0
16 39 3v S-1 &K -50 23.0 -23.0|40 15 2&V +2 %3 -130  142.0 -142.0(28 27 4v V-4 4A 200 16.0 -16.0
21 34 3vS-1 w2 -50 23.0 -23.0(41 14 24V +2 45 -130  142.0 -142.0|24 31 34 N= v2 140 -14.0 14.0
23 32 3vS-1 &K -50 23.0 -23.0|42 7 3#V+1l vK -130  142.0 -142.0(26 29 34 N= &3 140 -14.0 14.0
26 29 3v S-1 &K -50 23.0 -23.0(26 29 3NO= 3 -600 -63.0 63.0(30 25 24 N+1 ¢A 140 -14.0 140
28 27 3&#N-1 »T -50 23.0 -23.0( 113 3NO+1 +¢Q 630 -840 840| 1 13 24 N= 3 110 -31.0 31.0
3520 44N-1 T -50 23.0 -23.0|12 2 3NO+1 +Q 630 -840 840| 9 5 24 N= &2 110 -31.0 31.0
38 17 3v S-1 &K -50 23.0 -23.0(18 37 3NO+1 ¢Q -630 -84.0 84.0(10 4 24 N= v2 110 -31.0 31.0
40 15 44 N-1 vT -50 23.0 -23.0(21 34 3NO+1 2 -630 -840 84.0|16 39 24 N= ¢A 110 -31.0 31.0
6 8 5v N-3 aA -150  -27.0 27.0|22 33 3NV+1 ¥K -630 -840 84.0(23 32 24 N= 2 110 -31.0 31.0
311 34 O+1 438 -170 -36.0 36.0(23 32 3NO+1 8 -630 -840 84.0(21 34 3¢ O-2 v2 100 -31.0 31.0
10 4 24 O+2 #Q -170  -36.0 36.0(35 20 3NO+1 46 -630 -840 84.0(38 17 3¢ O-1 a2 50 -60.0 60.0
18 37 34 O+1 vQ -170 -36.0 360 9 5 3NO+2 +4 -660 -97.0 97.0(12 2 24 N-1 &2 -100 -119.0 119.0
41 14 34 O+1 £Q -170 -36.0 36.0({10 4 3NV+2 K -660 -97.0 97.0(18 37 34 N-1 &5 -100 -119.0 119.0
42 7 34 O+1 £Q -170 -36.0 36.0|24 31 3NV+2 ¢K -660 -97.0 97.0(22 33 34 N-1 +¢A -100 -119.0 119.0
12 2 44 O= *0Q -620 -203.0 203.0(28 27 3NO+2 +Q -660 -97.0 97.0(35 20 34DN-1 &7 -200 -157.0 157.0
22 33 24DO+1 v3 -870 -251.0 251.0(38 17 3NV+2 vK -660 -97.0 97.0(42 7 34DN-1 &2 -200 -157.0 157.0
22 # K9543 23 29754 24 & Kn42
Ost v E98 Syd v E32 Vast v ES53
ov 4643 Alla ¢ 852 Ingen ¢+ E764
#Kn5 &763 #EKn8
@- 4 Kn1086 4Kn862 &K #9853 « ED106
v K764 v Kn105 v 108654 v DKn9 vKD7 v Kn982
¢ EKKn107 ¢ D52 +9 + EDKn107 4+ Kn10953 ¢D
#EK62 #983 #1052 #EKn98 *7 #K1043
« ED72 « ED103 &« K7
vD32 vK7 v 1064
+98 + K643 ¢ K82
&D1074 #KD4 #D9652
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr Ut Res Poang
7 9 3&#V-2 43 200 130.0 -130.0|10 6 3#V-3 &3 300 122.0 -122.0(41 16 INN+2 &3 150 93.0 -93.0
24 33 44V-2 &J 200 130.0 -130.0|20 37 2¢ O-2 ¢3 200 740 -74.0(17 40 INN+1 v2 120 76.0 -76.0
22 35 24 N= ¢+2 110 88.0 -88.0(29 28 3#0-2 &«A 200 740 -74.0|29 28 INN+1 ¥8 120 76.0 -76.0
42 8 3NO-1 4A 100 84.0 -84.0(31 26 3¢ O-2 &K 200 740 -74.0|39 18 INN+1 #3 120 76.0 -76.0
115 34 N-1 &3 -50 9.0 -9.0 (17 40 INS+1 &2 120 330 -330| 115 3vVv-2 ¥3 100 65.0 -65.0
214 34 N-1 ¢2 -50 9.0 -9.0(19 38 INS+1 ¥5 120 33.0 -33.0(2532 2¢ V-2 &A 100 65.0 -65.0
41 16 34 N-1 ¢2 -50 9.0 90 7 9 24 N= vQ 110 220 -22.0(36 21 44 O-2 ¢2 100 65.0 -65.0
11 5 3a N-2 vJ -100  -21.0 21.0|24 33 24 S= ¢+9 110 220 -220(11 5 34 0-1 2 50 39.0 -39.0
27 30 34 N-2 vJ -100 -21.0 210| 412 2vV-1 &5 100 18.0 -18.0(31 26 34 V-1 6 50 39.0 -39.0
4 12 3¢ V= 43 -110  -23.0 23.0(13 3 4vV-1 +2 100 18.0 -180| 7 9 3NN-1 #2 -50 -12.0 120
20 37 3¢ V= 43 -110  -23.0 23.0|22 35 2¢ O-1 «K 100 18.0 -18.0(24 33 2NS-1 vQ -50 -12.0 12.0
29 28 3¢ V= a3 -110  -23.0 23.0(39 18 2¢ O-1 +2 100 18.0 -18.0(42 8 3NN-1 +8 -50 -12.0 120
31 26 3¢ V= LN -110  -23.0 23.0(41 16 2¢ O-1 «#K 100 18.0 -18.0(20 37 2v O= v8 -110  -44.0 440
10 6 3¢ O+1 &7 -130  -39.0 39.0(36 21 INS= v5 90 16.0 -16.0| 2 14 24 V+1 &2 -140 -62.0 62.0
13 3 3¢ O+1 45 -130  -39.0 39.0(42 8 INS= va 90 16.0 -16.0| 4 12 34 O= »2 -140 -62.0 62.0
17 40 3¢ V+1 3 -130  -39.0 39.0(27 30 2¢ O= &K 90 -780 78.0|10 6 24 V+1 ¢3 -140 -62.0 62.0
19 38 2¢ V+2 #J -130  -39.0 39.0| 2 14 34 S-1 3 -100 -82.0 82.0(13 3 24 V+1l ¥3 -140 -62.0 62.0
23 34 44 O= s A -130  -39.0 39.0(23 34 24 N-1 vQ -100 -82.0 82.0(22 35 24 V+1 2 -140 -62.0 62.0
25 32 3¢ O+1 +¢9 -130  -39.0 39.0(11 5 2v V+1 &3 -140 -102.0 102.0 (23 34 24 V+1 2 -140 -62.0 62.0
36 21 3¢ V+1 &3 -130  -39.0 39.0(25 32 2v O+1 2 -140 -102.0 102.0 (27 30 24 V+1 42 -140 -62.0 62.0
39 18 4¢ O+1 ¢2 -150 -52.0 520|115 34S-2 3 -200 -130.0 130.0(19 38 24 V+2 ¥3 -170  -80.0 80.0
25 10876 26 « EKKn 27 @-
Nord vE4 Ost v D842 Syd v EKn85
oV + EDKn6 Alla +10 Ingen + DKn53
#ED10 #107632 #D10853
4 D54 & EKKn9 49754 4103 D95 4 EKKn1042
v KKn103 v D82 v K6 v Kn1053 vD973 v6
¢ K32 + 84 ¢+ K64 + ED9832 4862 ¢ K974
*874 #Kn952 #Kn984 &K #Kn92 &74
432 « D862 #8763
v 9765 v E97 v K1042
¢ 10975 ¢ Kn75 ¢+ E10
K63 &ED5 &#EK6
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr ut Res Poang
12 6 3NN= A 400 135.0 -135.0| 3 15 3¢ O-2 2 200 83.0 -83.0|25 34 44DO-4 &A 800 183.0 -183.0
28 31 24 O-3 ¢7 300 910 -910(11 7 3¢ O-2 +3 200 83.0 -830| 2 16 44aDO-3 v4 500 68.0 -68.0
21 38 INN+2 2 150 10.0 -10.0(30 29 3¢ O-2 +¢6 200 83.0 -83.0(|14 4 44DO-3 v3 500 68.0 -68.0
315 3¢ N+1 «A 130 -9.0 9.0|14 4 24 S+2 vK 170 68.0 -68.0(18 41 4v N+2 42 480 51.0 -51.0
216 INN+1 &K 120 -11.0 11.0|24 35 3vy N= ¢A 140 50.0 -50.0(37 22 4v S+2 45 480 51.0 -51.0
513 INN+1 #A 120 -11.0 11.0|40 19 24 S+1 ¢4 140 50.0 -50.0( 3 15 4vS+1 &5 450 36.0 -36.0
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8 10 INN+1 «A 120 -11.0 110 1 17 INN+1 +9 120 370 -370| 513 4v N+1 ¢2 450 36.0 -36.0
14 4 INN+1 «A 120 -11.0 11018 41 2v N= ¢2 110 29.0 -29.0| 8 10 4v S+1 45 450 36.0 -36.0
18 41 INN+1 42 120 -11.0 11.0(21 38 1v S+1 v2 110 29.0 -29.0|21 38 4v S+1 v2 450 36.0 -36.0
20 39 INN+1 A 120 -11.0 1101|2534 1vS+1 +4 110 29.0 -29.0(24 35 4v N+1 «A 450 36.0 -36.0
23 36 INN+1 A 120 -11.0 11.0|28 31 24 S= ¢4 110 29.0 -29.0(28 31 4v S+1 45 450 36.0 -36.0
25 34 INN+1 &A 120 -11.0 11032 27 24 S= ¢7 110 29.0 -29.0|30 29 4v S+1 &5 450 36.0 -36.0
26 33 INN+1 A 120 -11.0 11.0|42 9 3#S= ¢4 110 29.0 -29.0(32 27 5v N= &A 450 36.0 -36.0
32 27 INN+1 &K 120 -11.0 11.0| 2 16 INN= ¢2 20 19.0 -19.0(40 19 4v S+1 45 450 36.0 -36.0
37 22 INN+1 A 120 -11.0  11.0(26 33 2¢ O= #A 90 -71.0 71.0(42 9 4v S+1 &5 450 36.0 -36.0
40 19 INN+1 4K 120 -11.0 110 513 44 N-1 +A -100 -73.0 73.0|23 36 5#N= «A 400 50 50
42 9 INN+1 «A 120 -11.0 11.0| 8 10 34 S-1 ¢4 -100 -73.0 73.0|26 33 44DO-2 ¢A 300 -41.0 410

117 1#N+2 «A 110 -13.0 13.0(12 6 44 N-1 T -100 -73.0 73.0| 1 17 4v S-1 43 -50 -183.0 183.0
24 35 3¢ S= vT 110 -13.0 13.0|20 39 3NS-1 ¥K -100 -73.0 73.0|11 7 6v S-1 a5 -50 -183.0 183.0
3029 2¢ V-1 46 100 -28.0 28.0|37 22 34 S-2 ¢4 -200 -121.0 121.0(|20 39 4v N-1 A -50 -183.0 183.0
11 7 1&N+1 @aA 90 -30.0 30.0(23 36 4v S-3 ¢4 -300 -163.0 163.0|12 6 4v S-2 45 -100 -196.0 196.0
28 «Kn974 29 # 10643 30 D
Vast vD5 Nord vE98 Ost v DKn102
NS *7 Alla 465 Ingen ¢ Kn965

#ED10974 #K543 £8654
« KD 4 E65 49 & EK82 465 « EK832
v 10982 v 763 v72 v DKn53 vK986 vE543
¢ EKDKN5 498643 ¢+ D87432 ¢ EK9 ¢ED8 ¢ K42
*K8 #53 #EKN107 £86 #E973 #Kn

« 10832 « DKn75 «Kn10974

v EKKn4 v K1064 v7

¢102 ¢ Knl0 +1073

#Kn62 D92 #KD102

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr ut Res Poang

6 14 5¢DV-2 47 300 169.0 -169.0| 6 14 3¢ V+2 v8 -150 151.0 -151.0|25 36 5v O-2 ¢8 100 146.0 -146.0
15 5 34 N+1 &5 170 118.0 -118.0 (21 40 3¢ O+2 vJ -150 151.0 -151.0|29 32 6vy V-2 +6 100 146.0 -146.0
29 32 3#S+1 #8 130 100.0 -100.0 {25 36 3¢ V+2 &4 -150 151.0 -151.0| 2 18 4v O-1 v7 50 121.0 -121.0
12 8 5¢ V-2 &7 100 86.0 -86.0|33 28 2¢ V+3 &4 -150 151.0 -151.0| 9 11 4v O-1 «K 50 121.0 -121.0

218 3¢ O-1 vA 50 60.0 -60.0|41 20 3¢ V+2 4 -150 151.0 -151.0|12 8 6v O-1 &K 50 121.0 -121.0
13 7 4¢ V-1 4 50 60.0 -60.0(42 10 3¢ V+2 +¢6 -150 151.0 -151.0(19 1 4v O-1 3 50 121.0 -121.0
26 35 4¢ V-1 @A 50 60.0 -60.0(12 8 3NO= «Q -600 -480 48.0(31 30 6vO-1 K 50 121.0 -121.0
38 23 4¢ V-1 &7 50 60.0 -60.0|27 34 3NO= 45 -600 -48.0 48.0(38 23 4v O-1 &K 50 121.0 -121.0
21 40 29 S-1  v2 -100 -14.0 14.0|29 32 3NO= «Q -600 -480 48.0(41 20 4vO-1 3 50 121.0 -121.0
22 39 3¢ V= a4 -110 -18.0 18.0|38 23 3NO= «Q -600 -48.0 48.0(24 37 3NV= vQ -400 -76.0 76.0
25 36 3¢ V= *4 -110  -18.0 18.0| 2 18 3NO+1 &7 -630 -63.0 63.0| 3 17 4v V= +6 -420 -88.0 88.0
31 30 3¢ V= a7 -110 -180 18.0| 3 17 3NO+1 «Q -630 -63.0 63.0(21 40 4vO= v2 -420 -88.0 88.0
33 28 3¢ V= a7 -110 -18.0 18.0| 4 16 3NO+1 a7 -630 -63.0 63.0|22 39 4v0O= v6 -420 -88.0 88.0
41 20 3¢ V= 3 -110  -180 180 9 11 3NO+1 v4 -630 -63.0 63.0|26 35 4v O=  ¢3 -420 -88.0 88.0

317 INV+2 &T -150 -40.0 40.0|15 5 3NO+1 vJ -630 -63.0 63.0(33 28 4v O= &K -420 -88.0 88.0

9 11 2NV +1 &4 -150  -40.0 40.0(19 1 3NO+1 7 -630 -63.0 63.0(42 10 4v O= #K -420 -88.0 88.0
24 37 2NV +1 &T -150 -40.0 40.0|22 39 3NO+1 3 630 -63.0 63.0| 4 16 4vO+1 v7 -450 -107.0 107.0
27 34 INV+2 &T -150 -40.0 40.0|24 37 3NO+1 &7 630 -63.0 63.0| 6 14 4v O+1 v7 -450 -107.0 107.0
19 1 4vS-3 A -300 -111.0 111.0|26 35 3NO+1 v¥6 -630 -63.0 63.0(13 7 4v O+1 K -450 -107.0 107.0
42 10 3NV = &7 -400 -151.0 151.0(31 30 3NO+1 v4 630 -63.0 63.0(15 5 4v O+1 3 -450 -107.0 107.0
416 2vDS-2 +A -500 -187.0 187.0|13 7 3NO+2 &2 -660 -84.0 84.0|27 34 4v V+1 +6 -450 -107.0 107.0
31 497 32 « EK974 33 « K1052
Syd vKD1065 Vast vE4 Nord v 93
NS ¢+ D1042 oV +D10 Ingen + E106

£86 #9654 #KKn76
4 D6532 4 EKn10 4Knl1l0853 462 4876 & Kn93
v 83 v Kn42 vKn7532 vD96 v 65 vEK
¢EK98 +¢76 *7 ¢ KKn96542 ¢ K842 + D753
*74 #KD532 «D2 *Kn #10543 #D982
& K84 D «ED4
vE97 v K108 v DKn108742
¢ Kn53 ¢ E83 ¢ Kn9
#EKn109 #EK10873 &E

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr ut Res Poang
28 35 3NS= ¢A 600 222.0 -222.0|14 8 7#S= v3 1440 197.0 -197.0| 1 21 4y N+1 43 450 80 -80
26 37 3y N= &6 140 440 -440(16 6 7#S= ¢7 1440 197.0 -197.0| 3 19 4v S+1 46 450 80 -80
13 9 34V-2 K 100 23.0 -23.0|22 41 74 S= ¢3 1440 197.0 -197.0| 4 18 4v S+1 v6 450 80 -80
16 6 3« 0-2 vA 100 23.0 -23.0|25 38 7#S= «3 1440 197.0 -197.0| 5 17 4v S+1 47 450 80 -80
23 40 34 V-2 vK 100 23.0 -23.0| 517 64DS+1 #6 1190 103.0 -103.0| 7 15 4v S+1 ¢4 450 80 -80
25 38 34 V-2 K 100 230 -23.0| 121 6#S+1 2 940 -2.0 2010 12 4v S+1 «4 450 80 -80
34 29 44 V-2 vK 100 23.0 -23.0( 319 6#S+1 ¢7 940 -2.0 20(13 9 4v S+1 48 450 80 -80
39 24 34 V-2 K 100 23.0 -23.0| 4 18 64 N+1 v2 940 -2.0 20|14 8 4vS+1 #4 450 80 -80
319 3«V-1 K 50 -140 140| 7 15 6#S+1 +4 940 -2.0 20(16 6 4v S+1 ¢4 450 80 -80
4 18 34 V-1 vK 50 -140 140|113 9 64S+1 7 940 -2.0 20|20 2 5vS= ¢4 450 80 -80

517 34 V-1 &9 50 -140 14.0(20 2 6#S+1 ¢7 940 -2.0 2022 41 4v S+1 &6 450 80 -80

715 34V-1 vK 50 -140 14.0(23 40 6#S+1 v2 940 -2.0 2.0(23 40 4v S+1 46 450 80 -80
14 8 24 V-1 vK 50 -14.0 14.0|27 36 64S+1 7 940 -2.0 2025 38 4v S+1 +4 450 80 -80
20 2 34 V-1 9K 50 -140 140|28 35 6#S+1 v2 940 -2.0 2.0(26 37 4v S+1 v6 450 80 -80
22 41 34 O-1 3 50 -140 14.0|32 31 6+#S+1 +4 940 -2.0 20|27 36 4y N+1 3 450 80 -80
27 36 34 V-1 vK 50 -140 140|142 11 6+4S+1 v5 940 -2.0 2028 35 4v S+1 4 450 80 -80
30 33 24 V-1 ¥K 50 -140 14.0(30 33 3NS+4 +6 520 -163.0 163.0|30 33 4v N+1 ¢6 450 80 -80
32 31 34 0-1 v¥K 50 -140 14.0(34 29 3NS+4 v2 520 -163.0 163.0(32 31 4v S+1 &8 450 80 -80
10 12 4v N-1  «A -100 -88.0 88.0|39 24 3NS+4 v2 520 -163.0 163.0(34 29 4y S+1 5 450 80 -80

121 24 V= 3 -110 -88.0 88.0|26 37 3NS+2 +7 460 -183.0 183.0|42 11 3NN= +3 400 -33.0 330
42 11 24 V= vK -110 -88.0 88.0|10 12 54 S+2 ¢4 440 -197.0 197.0(39 24 2v S+3 ¢4 200 -119.0 119.0

BK S:t Erik, Guld-IAF 2014-05-10, sida 5 av 9




34 « D854 35 « E542 36 « EK8762
Ost v ED986 Syd v Kn932 Vast v E42
NS .- ov + D108 Alla ¢ Kn5
#KKn93 &54 #53
4 K1096 #Kn2 4 Knl107 #K9863 4943 a5
v K10 vKn72 v 107 v EK65 v Kn5 vD109763
+Kn763 ¢ EKD8 ¢ EK74  ¢62 4932 + K10764
*E76 +D1084 #10873 #Kn9 #DKn1062 &E
«E73 «D « DKn10
v 543 vD84 vK8
¢ 109542 ¢ Kn953 + ED8
52 #EKD62 £K9874
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr Ut Res Poang
6 18 2v N= v2 110 740 -74.0(24 41 2¢ V-3 &5 300 192.0 -192.0|24 41 64 N= v9 1430 260.0 -260.0
8 16 24 O-2 v3 100 720 -720( 2 22 3¢ S-1 &) -50 450 -450| 519 44 N+2 v9 680 -5.0 5.0
29 36 3¢ O-2 3 100 720 -72.0| 4 20 3vy N-1 a3 -50 450 -45.0( 6 18 44 N+2 ¢2 680 -5.0 5.0
3530 3#0-2 3 100 720 -72.0(14 10 3v N-1 3 -50 450 -450| 8 16 44 N+2 +9 680 -5.0 5.0
222 2NO-1 +¥5 50 40.0 -40.0|15 9 INS-2 +4 -100 8.0 -8.0 (14 10 44 N+2 &A 680 -5.0 5.0
519 24 V-1 45 50 40.0 -40.0(26 39 3v N-2 46 -100 8.0 -8.0(17 7 44 N+2 &A 680 -5.0 5.0
11 13 3¢ O-1 3 50 40.0 -40.0|28 37 2#S-2 +A -100 8.0 -8.0(21 3 44 N+2 v2 680 -5.0 5.0
15 9 3¢ O-1 3 50 40.0 -40.0|35 30 3v N-2 3 -100 8.0 -8.0(26 39 44 N+2 v9 680 -5.0 5.0
26 39 INO-1 v2 50 40.0 -40.0|42 12 3v N-2 45 -100 8.0 -8.0 (28 37 44 N+2 #Q 680 -5.0 5.0
28 37 3NO-1 &5 50 40.0 -40.0| 8 16 24 O= A -110 6.0 -6.0 (31 34 44 N+2 v9 680 -5.0 5.0
31 34 3NO-1 3 50 40.0 -40.0( 519 24 O+1 A -140 -15.0 15.0(33 32 44 N+2 &A 680 -5.0 5.0
420 INO= v3 90 -36.0 36.0|11 13 24 O+1 &A -140 -150 15.0(35 30 44 N+2 +9 680 -5.0 5.0
23 1 INV= v8 90 -36.0 36.0|21 3 24 O+1 ¥J -140 -15.0 15.0(40 25 44 N+2 &#A 680 -5.0 5.0
40 25 INV = v6 90 -36.0 36.0(23 1 24 O+1 #A -140 -15.0 15.0(42 12 44 N+2 v9 680 -5.0 5.0
21 3 3y N-1 v2 -100 -38.0 38.0(27 38 24 O+1 #A -140 -15.0 15.0| 2 22 44 N+1 #A 650 -25.0 25.0
24 41 2v N-1 ¢A -100 -38.0 38.0(29 36 24 O+1 #K -140 -15.0 150| 4 20 44 S+1 v6 650 -25.0 25.0
14 10 3¢ O= v3 -110 -43.0 43.0(33 32 34 O= *Q -140 -150 150(15 9 44 N+1 #A 650 -25.0 25.0
42 12 3¢ V= &9 -110  -43.0 43.0(17 7 3¢ S-3 4 -150 -20.0 20.0(23 1 44 N+1 v9 650 -25.0 25.0
27 38 INO+1 v2 -120  -56.0 56.0(31 34 3v N-3 3 -150 -20.0 20.0(27 38 44 N+1 #A 650 -25.0 25.0
3332 3y N-2 +¢A 200 -89.0 89.0(40 25 34#S-4 +A 200 -52.0 52.0(29 36 44 N+1 #A 650 -25.0 25.0
17 7 1e¢DV+2 42 -340 -155.0 155.0| 6 18 24DS-3 *T -500 -176.0 176.0 (11 13 44 N= &A 620 -45.0 45.0
37 + K9854 38 4 K109843 39 « EK103
Nord v 65 Ost vDKn Syd v KKn65
NS * K2 ov ¢ DKn10 Alla +E3
#E963 &75 632
4Kn32 &E7 4EKNn7 &D 4D952 48764
vKD8 vE10432 vE754 vK10963 v 743 vE2
¢ E874 ¢ D1053 4864 ¢ K9732 410987 ¢ KD652
K108 #Kn4 #E98  #K2 *Kn5 *E7
« D106 4 652 4 Kn
vKn97 v 82 vD1098
¢ Kn96 ¢ E5 ¢+ Kn4
£D752 #DKn10643 #KD10984
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr Ut Res Poang
3235 3NO-2 46 100 179.0 -179.0|24 2 5v O-2 &2 200 187.0 -187.0( 521 4v N+1 +2 650 66.0 -66.0
42 13 3NV-2 44 100 179.0 -179.0 (30 37 5v V-2 &7 200 187.0 -187.0| 6 20 4v S+1 ¢2 650 66.0 -66.0
22 4 4v0O-1 46 50 160.0 -160.0|41 26 5v O-2 #Q 200 187.0 -187.0| 7 19 4v N+1 ¢K 650 66.0 -66.0
25 1 3NV-1 &4 50 160.0 -160.0|32 35 5v V-1 46 100 161.0 -161.0 (16 10 4v N+1 ¢K 650 66.0 -66.0
16 10 2v O+2 46 -170 65.0 -65.0|12 14 34 N-2 #K -100 100.0 -100.0 |27 40 4v N+1 ¢K 650 66.0 -66.0
28 39 3vy O+1 46 -170 65.0 -650(18 8 3#N-2 ¥5 -100 100.0 -100.0 {28 39 4v S+1 #J 650 66.0 -66.0
9 17 24 N-2 ¢5 -200 53.0 -53.0(28 39 34 N-2 2 -100 100.0 -100.0 {30 37 4v N+1 A 650 66.0 -66.0
521 3NO= 46 -400 -42.0 42.0(16 10 34DN-2 #K -300 25,0 -25.0(32 35 4vy N+1 ¢K 650 66.0 -66.0
24 2 INS- vK 400 -42.0 420(25 1 44DN-2 #K -300 25,0 -25.0(36 31 4v N+1 ¢K 650 66.0 -66.0
30 37 3NO = »2 -400 -42.0 42.0(27 40 54DN-3 #K -500 -54.0 54.0(41 26 4v N+1 #A 650 66.0 -66.0
719 4v O= v7 -420  -57.0 57.0(34 33 44DN-3 ¥9 -500 -54.0 54.0(42 13 4v N+1 +K 650 66.0 -66.0
18 8 4v O= 3 -420  -57.0 57.0(42 13 44DN-3 ¥9 -500 -540 540| 3 23 4v N= 6 620 47.0 -47.0
27 40 4v O = 46 -420  -57.0 57.0( 6 20 4v O= *0Q -620 -101.0 101.0|15 11 4v N= ¢+Q 620 47.0 -47.0
34 33 4v O = 46 420  -57.0 57.0( 7 19 4v O= *0Q -620 -101.0 101.0(18 8 4v N= ¢+K 620 47.0 -47.0
41 26 4v O= a4 420  -57.0 57.0(15 11 4v O= v3 -620 -101.0 101.0(24 2 4v N= ¢+3 620 47.0 -47.0
323 4v 0+l &5 -450 -75.0 75.0(22 4 4v O= ¢ A -620 -101.0 101.0|12 14 3NN= ¢+2 600 31.0 -31.0
6 20 4v O+1 46 -450  -75.0 75.0| 521 4v O+1 +A -650 -113.0 113.0(34 33 3v S+2 &5 200 -128.0 128.0
12 14 49 O+1 46 -450 -75.0 75.0(29 38 4v O+1 +¢A -650 -113.0 113.0(22 4 2#N+3 A 150 -151.0 151.0
15 11 4v O+1 %J -450 -75.0 75.0(36 31 4v O+1 +¢A -650 -113.0 113.0(25 1 4vy N-1 ¢K -100 -210.0 210.0
29 38 4v O+1 &5 -450 -75.0 75.0| 3 23 44DN-4 ¥3 -800 -167.0 167.0| 9 17 3NN-2 +Q -200 -228.0 228.0
36 31 4vy O+1 &5 -450 -75.0 75.0| 9 17 A-/A- -30.0 -30.0|29 38 BNN-2 +K -200 -228.0 228.0
40 « Kn1043 41 @- 42 103
Vast v D96 Nord v ED109842 Ost vD97532
Ingen 483 ov + Kn106 Alla ¢ Kn1042
#Kn654 #972 210
& E65 D987 4 D963 & EK72 4 K9 & Kn752
v EKKn1053 v7 v76 vKKn v10864 v EKKn
+ 109 + EKn642 ¢ ED9874 ¢ K32 ¢ E653 ¢ K97
#109 #EKD *8 #KKn103 *E86 #K53
& K2 4« Kn10854 « ED864
v 842 v53 v-
¢+ KD75 +5 + D8
#8732 &ED654 &#DKn9742
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr Ut Res Poang
19 9 66 O-4 v2 200 230.0 -230.0| 7 21 44DV-1 vA 200 940 -940( 4 24 3NO-2 #Q 200 120.0 -120.0
3534 6#V-3 43 150 217.0 -217.0|13 15 44DV-1 ¢6 200 940 -940( 8 20 3NO-2 #J 200 120.0 -120.0
42 14 3NV = ] -400 6.0 -6.0(23 5 5¢DV-1 #2 200 940 -940(26 2 3NO-2 #Q 200 120.0 -120.0
25 3 4v V= »5 -420 -13.0 13.0(29 40 44DV-1 ¢J 200 94.0 -94.0(29 40 3NO-2 #Q 200 120.0 -120.0
30 39 4v V= &5 -420 -13.0 13.0|30 39 44DV-1 ¢J 200 940 -94.0(42 14 3NO-2 #Q 200 120.0 -120.0
721 3NO+1 K -430 -13.0 13.0(31 38 44DV-1 #2 200 940 -940( 127 3NO-1 #Q 100 770 -77.0
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8 20 BNO+1 %3 -430 -13.0 13.0| 127 44 0-1 +J 100 40.0 -40.0| 6 22 3NO-1 «Q 100 77.0 -77.0
28 41 3NO+1 &8 -430 -13.0 13.0| 424 6¢ V-1 vA 100 40.0 -40.0|16 12 3NO-1 #Q 100 77.0 -77.0
29 40 BNO+1 «3 -430 -13.0 13.0| 6 22 44 V-1 vA 100 40.0 -40.0(17 11 3NO-1 #Q 100 77.0 -77.0
3336 SNO+1 &K -430 -13.0 13.0|10 18 44 V-1 ¢J 100 40.0 -40.0|19 9 3NO-1 «Q 100 77.0 -77.0
37 32 ANV = +8 -430 -13.0 13.0(16 12 44 V-1 ¢J 100 40.0 -40.0|23 5 3NO-1 «Q 100 77.0 -77.0
16 12 4v V+1 &) -450 -33.0 33.0(|17 11 44 V-1 &2 100 40.0 -40.0(28 41 3NO-1 #Q 100 77.0 -77.0

127 3NO+2 +¢2 -460 -33.0 33.0(|19 9 4eV-1 ©vA 100 40.0 -40.0|31 38 3NO-1 «Q 100 77.0 -77.0

4 24 3NO+2 oK -460 -33.0 33.0|26 2 44 V-1 ¢6 100 40.0 -40.0|25 3 3NS-1 «Q -100 -6.0 6.0

622 3NO+2 ¢Q 460 -330 33.0(33 36 44V-1 +¢6 100 40.0 -40.0 (30 39 3#DS-1 &6 -200  -42.0 420
10 18 3NO+2 +¢K -460 -33.0 33.0|37 32 6¢ V-1 vA 100 40.0 -40.0| 7 21 44DS-2 v6 -500 -144.0 144.0
13 15 3NO+2 +¢K -460 -33.0 33.0(|35 34 5vDN-2 4K -300 -125.0 125.0(33 36 3#DS-2 ¢+A -500 -144.0 144.0
23 5 3NO+2 5 -460 -33.0 33.0| 8 20 5¢ V= vA -600 -201.0 201.0|10 18 34DN-3 YA -800 -220.0 220.0
26 2 3NO+2 &3 -460 -33.0 33.0(28 41 5¢ V= vA -600 -201.0 201.0(13 15 34DN-3 vQ -800 -220.0 220.0
31 38 BNO+2 &K -460 -33.0 33.0(42 14 5¢ V= +6 -600 -201.0 201.0|35 34 34DS-3 v3 -800 -220.0 220.0
17 11 3NO+3 7 -490 -52.0 52.0|25 3 5¢DO= vA -750 -236.0 236.0|37 32 34DS-3 v6 -800 -220.0 220.0
43 4 EDKn7 44 « Knl05 45 « EK86
Syd vD9 Vast v 6432 Nord v 63
Ingen + D96 NS ¢ K85 Alla ¢ 106542

«D763 #K82 «103
K6 a5 ~E4 498632 4DKn95 &7
v6542 v1073 vD10875 vKKn vDKn98 v EK10754
¢ E53 ¢ KKn10872 ¢ E92 ¢ Kn64 ¢ K873 ¢ EKn
#EKn42 #K105 #1073 #EKn5 *7 #KKn42

# 1098432 « KD7 # 10432

v EKKn8 vE9 v2

*4 ¢+ D1073 +D9

£98 +D964 #ED9865

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr ut Res Poang

2 28 44 S= ¢A 420 38.0 -38.0|18 12 3NO-3 «J 150 134.0 -134.0| 2 28 5v O= 43 -650 9.0 -9.0

525 44 N= ¢T 420 38.0 -38.0|38 33 24 O-1 ¢7 50 91.0 -91.0| 525 4v O+1 &3 -650 9.0 -9.0

7 23 44 S= v4 420 38.0 -38.0|30 41 INV= v2 -90 20.0 -20.0| 7 23 4v O+1 &4 -650 9.0 -9.0

8 22 44 S= ¢A 420 38.0 -38.0|31 40 INV= v2 -90 20.0 -20.0| 8 22 4v V+1 &A -650 9.0 -9.0
11 19 44 N= T 420 38.0 -38.0(17 13 2¢ S-1 ¢2 -100 13.0 -13.0| 921 5v 0= v2 -650 9.0 -9.0
14 16 44 N= ¢3 420 38.0 -38.0|24 6 24 N-1 &2 -100 13.0 -13.0|11 19 4v O+1 43 -650 9.0 -9.0
17 13 44 N= ¢2 420 38.0 -38.0|36 35 3« N-1 vK -100 13.0 -13.0|14 16 5v V= &K -650 9.0 -9.0
18 12 44 N= &5 420 380 -380| 921 1vO+1 3 -110 6.0 -6.0(17 13 5v O= #A -650 9.0 -9.0
20 10 44 N= #3420 38.0 -38.0|11 19 1lvV+1l 3 -110 60 -6.0(18 12 4v O+1 &3 -650 9.0 -9.0
26 4 44 N= ¢T 420 38.0 -38.0|26 4 2v V= ¢5 -110 6.0 -6.0(20 10 4v O+1 3 -650 9.0 -9.0
29 1 44 S= v4 420 380 -380(29 1 2vV= v2 -110 6.0 -6.0(24 6 4v V+1 &T -650 9.0 -9.0
30 41 44 N= ¢7 420 38.0 -38.0|34 37 2v V= *2 -110 6.0 -6.0(26 4 4v O+1 3 -650 9.0 -9.0
31 40 44 S= v4 420 38.0 -38.0|42 15 2v V= *2 -110 60 -6.0(27 3 4vO+1 +Q  -650 9.0 -9.0
32 39 44 N= T 420 380 -380(| 525 INV+1l ¥3 -120 -1.0 1.0(30 41 4v O+1 &3 -650 9.0 -9.0
34 37 44 N= &K 420 38.0 -38.0| 8 22 INV+1l &2 -120 -1.0 10|32 39 4v O+1 &3 -650 9.0 -9.0
42 15 44 N= ¢7 420 38.0 -38.0|14 16 INV+1 &2 -120 -1.0 1.0|34 37 4v O+1 &3 -650 9.0 -9.0
24 6 34 S+1 A 170 -86.0 86.0(27 3 2v V+l &) -140  -140 14.0(36 35 5v O= #A -650 9.0 -9.0
27 3 34 S+1 +4 170 -86.0 86.0| 228 INV+2 3 -150 -17.0 17.0|38 33 5v V= *2 -650 9.0 -9.0
38 33 5¢ O-3 vA 150 -106.0 106.0(32 39 INS-2 ¥v5 -200 -48.0 48.0(|42 15 4v O+1 3 -650 9.0 -9.0

921 4¢ O-1 ©vA 50 -150.0 150.0| 7 23 INDV +1 ] -280  -90.0 90.0|31 40 4v O+2 2 -680 -12.0 12.0
36 35 54 N-1 T -50 -180.0 180.0 (20 10 2¢vDV= v2 -470 -168.0 168.0|29 1 4vDO+1 v2 -990 -159.0 159.0
46 « EKn10943 47 49 48 « EDKn10984
Ost v 962 Syd v EK63 Vast vED4
Ingen ¢+ E10 NS ¢ 984 ov +10

#52 #D6543 £82
«D2 4 K75 4 ED108632 4 KKn54 a7 & K532
v Kn5 vKD104 v9 v Kn54 v8532 v6
498642 +KD5 ¢ KKn7 + D1062 ¢+ D982 ¢ Kn54
#EKn84 #K96 #EKn *K2 #E765 #KDKn93
« 86 a7 46
vE873 vD10872 v KKn1097
¢ Kn73 ¢ E53 ¢ EK763
«D1073 10987 #104

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr ut Res Poang
37 36 3BNO-3 &8 150 115.0 -115.0| 3 29 44 O+1 v2 -450 10 -10( 329 44 N+1 &K 450 54.0 -54.0

6 26 2NO-2 48 100 91.0 -910| 8 24 44 V+1 YA -450 10 -10( 923 4vS+1 &7 450 54.0 -54.0
25 7 2NO-2 «8 100 91.0 -91.0| 9 23 54 V= vA -450 10 -10(27 5 44 N+1 &K 450 54.0 -54.0
30 2 2NO-2 «8 100 91.0 -91.0|10 22 44 V+1 ©vA -450 10 -10(28 4 4v S+1 &7 450 54.0 -54.0
19 13 3NO-1 8 50 65.0 -65.0|12 20 5& V= vA -450 10 -10(30 2 44 N+1 &K 450 54.0 -54.0
21 11 3#0-1 v3 50 65.0 -65.0(15 17 44 O+1 v3 -450 10 -10(31 1 4vS+1 &7 450 54.0 -54.0
12 20 24 N-1 42 -50 17.0 -17.0(18 14 44 O+1 vA -450 10 -10(39 34 44 N+1 «K 450 54.0 -54.0
27 5 2NN-2 48 -100  -13.0 13.0|19 13 5e V= vA -450 10 -10(42 16 44 N+1 &K 450 54.0 -54.0

923 3#0= 48 -110  -14.0 14.0|21 11 44 V+1 92 -450 10 -10| 6 26 44 N= v6 420 35.0 -35.0
1517 3#0= v3 -110  -14.0 14.0(|25 7 44 V+1 ©vA -450 10 -10| 824 4vS= &6 420 35.0 -35.0
18 14 3+ 0= 48 -110 -140 14.0|27 5 54 V= vA -450 10 -10(10 22 4v S= a7 420 35.0 -35.0
28 4 34 0= &8 -110 -14.0 14.0(|28 4 54 V= vA -450 10 -10(12 20 44 N= v3 420 35.0 -35.0
31 1 3240= &8 -110  -14.0 14.0|30 2 54 V= vA -450 10 -10(15 17 44 N= «K 420 35.0 -35.0
32 41 34 0= 48 -110 -140 14.0|31 1 54 V= vA -450 10 -10(32 41 44 N= &K 420 35.0 -35.0
3538 32 0= &8 -110  -14.0 14.0(|32 41 44 V+1 ©vA -450 10 -10(33 40 44 N= &K 420 35.0 -35.0
33 40 2NO= 8 -120  -25.0 25.0(33 40 54 O= v2 -450 10 -10(35 38 44 N= v5 420 35.0 -35.0

329 4e V= &5 -130  -32.0 32.0|35 38 44 V+1 ©vA -450 10 -10(37 36 44 N= &K 420 35.0 -35.0

824 3¢ O+1 438 -130  -32.0 32.0|37 36 54 V= vA -450 10 -10(18 14 4v N-1 #4 -50 -172.0 1720
39 34 2¢ V+2 aA -130 -32.0 32.0(|39 34 44 V+1 ©vA -450 10 -10(|25 7 44 N-1 &K -50 -172.0 172.0
42 16 3NS-7 +8 -350 -136.0 136.0 |42 16 44 V+1 YA -450 10 -10(19 13 5v S-2 &6 -100 -188.0 188.0
10 22 3NV +1 T -430 -167.0 167.0| 6 26 54 V+1 ¢4 -480 -20.0 20.0|21 11 6v S-4 v2 -200 -215.0 215.0
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49 » EK9 50 4743 51 « K10
Nord v Kn52 Ost v4 Syd v K53
Ingen +D NS ¢ K5432 ov ¢+ E762
#EKKn976 #DKn86 #K1095
«DKn8743 4105 «ED62 4Knl0985 4E8742 46
v4 v KD1076 vE1087 v632 v 842 v EDKn1096
¢E98743 ¢2 + Kn6 + ED109 +D + 10843
*- #D10543 #ES53 &K #EDKn4 #87
62 oK  DKn953
v E983 v KDKn95 vi7
¢ KKn1065 ¢ 87 ¢ KKn95
82 #109742 #632
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr Ut Res Poang
13 21 44DV-4 «K 800 214.0 -214.0|22 12 3#N-2 4] -200 140.0 -140.0|38 37 5vDO-3 «Q 800 281.0 -281.0
10 24 44DV-3 #A 500 115.0 -115.0| 4 30 44 O+2 ¥K -480 -6.0 6.0(11 23 24 V-3 ¢A 300 180.0 -180.0
11 23 44DV-3 #A 500 115.0 -115.0| 7 27 44 V+2 v4 -480 -6.0 6.0(40 35 6vy O-2 #2 200 147.0 -147.0
26 8 44DV-3 #A 500 115.0 -115.0| 9 25 44 O+2 ¥K -480 -6.0 60|33 1 24 S= ¢+Q 110 111.0 -111.0
36 39 3NN+1 &J 430 84.0 -84.0|10 24 44 O+2 vK -480 -6.0 6.0|36 39 3¢ S= A 110 111.0 -111.0
7 27 3NS= +8 400 70.0 -70.0(11 23 44 V+2 v4 -480 -6.0 6.0(20 14 24 S-1 +Q -50 53.0 -53.0
9 25 3NS= ¢7 400 70.0 -70.0|13 21 44 O+2 &K -480 -6.0 6022 12 24 S-1 v2 -50 53.0 -53.0
19 15 3NS= «4 400 70.0 -70.0(16 18 44 O+2 K -480 -6.0 60| 727 3NN-2 vJ -100 33.0 -33.0
22 12 3NN= «T 400 70.0 -70.0|19 15 44 O+2 ¥K -480 -6.0 6.0(28 6 34S-2 v2 -100 33.0 -33.0
34 41 3NN-= vK 400 70.0 -70.0(26 8 44 V+2 v4 -480 -6.0 60|29 5 24 V= +6 -110 31.0 -31.0
28 6 44DO-2 vA 300 21.0 -21.0|28 6 44 V+2 v4 -480 -6.0 6.0(13 21 2v O+2 &2 -170 20 -20
40 35 34DV-2 #A 300 21.0 -21.0|29 5 44 V+2 v4 -480 -6.0 6.0(16 18 2v O+2 49 -170 20 -20
29 5 3& N+ vK 130 -556.0 55.0|31 3 44 0+2 v¥K -480 -6.0 6.0(19 15 2v O+2 45 -170 20 -20
16 18 3« N= vK 110 -64.0 64.0|32 2 44 O+2 v¥K -480 -6.0 6.0(34 41 3vy O+1 9 -170 20 -20
20 14 3«4 V-2 &K 100 -640 64.0(33 1 44 O+2 vK -480 -6.0 6.0(26 8 2v V+3 49 -200  -15.0 15.0
38 37 34 V-2 #A 100 -64.0 64.0(34 41 44 O+2 vK -480 -6.0 60| 430 4v0= «Q -620 -171.0 171.0
4 30 4ANS-1 46 -50 -127.0 127.0(36 39 44 V+2 v4 -480 -6.0 60 925 4v0= «Q -620 -171.0 171.0
32 2 3NS-1 v4 -50 -127.0 127.0(38 37 44 V+2 v4 -480 -6.0 6.0(10 24 4v V= v3 -620 -171.0 171.0
33 1 3NN-1 T -50 -127.0 127.0 (40 35 44 V+2 v4 -480 -6.0 6031 3 4v 0= &2 -620 -171.0 171.0
42 17 3NN-2 o7 -100 -152.0 152.0 (42 17 44 V+2 94 -480 -6.0 6032 2 49y 0= «Q -620 -171.0 171.0
31 3 54DN-3 ¥K -500 -255.0 255.0(20 14 3#DN-2 &3 -500 -26.0 26.0(42 17 4v O= v7 -620 -171.0 171.0
52 D975 53 +10 54 « ED54
Vast v E765 Nord ¥ Kn1083 Ost v 53
Alla + 86 NS ¢ Kn10764 ov ¢ Kn1075
«D104 #E73 #EK9
~E86 & KKn4 4 EKD9652 4Kn8 « 103 49876
vKDKn92 v43 v5 vED2 vK10964 vEKn82
¢ EDKn74 ¢ K1092 ¢ K9 + 832 ¢ 842 + KD9
*- #KKn93 +D86 #Kn10542 *732 #65
#1032 4743 & KKn2
v 108 v K9764 vD7
+53 ¢ ED5 ¢ E63
#E87652 +K9 #DKn1084
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr ut Res Poang
14 22 7¢ V-1 vA 100 296.0 -296.0 |12 24 44 V-2 vJ 100 171.0 -171.0(35 1 3NS+2 v4 460 122.0 -122.0
10 26 5¢ V+1 &7 -620 160.0 -160.0(32 4 44 V-1 ¢J 50 147.0 -147.0| 8 28 3NN+1 ¢K 430 102.0 -102.0
12 24 5¢ O+1 &2 -620 160.0 -160.0 |42 18 44 V-1 vJ] 50 147.0 -147.0(20 16 3NS+1 T 430 102.0 -102.0
39 38 5¢ V+1 46 -620 160.0 -160.0({30 6 2# O+2 v4 -130 69.0 -69.0|29 7 3NN+1 &6 430 102.0 -102.0
34 2 3NO+1 3 -630 148.0 -148.0(27 9 34 V+1 vJ] -170 48.0 -48.0(34 2 3NS+1 T 430 102.0 -102.0
20 16 BNO+2 &2 -660 140.0 -140.0|39 38 34 V+1 vJ -170 48.0 -48.0|14 22 44 N= 49 420 102.0 -102.0
27 9 3NO+2 45 -660 140.0 -140.0|11 25 5v S-2 &K -200 38.0 -38.0| 531 3NN= ¢2 400 90.0 -90.0
32 4 3NO+2 &7 -660 140.0 -140.017 19 5v S-2 «Q  -200 38.0 -38.0(10 26 3NS= v4 400 90.0 -90.0
531 66 O= &A -1370 -101.0 101.0(35 1 5vS-2 4A -200 38.0 -38.0(23 13 3NS= v9 400 90.0 -90.0
8 28 6¢ V= 47 -1370 -101.0 101.0(41 36 5v S-2 &K -200 38.0 -38.0|27 9 3NS= v6 400 90.0 -90.0
11 25 6¢ O= #A -1370 -101.0 101.0(21 15 5v N-3 v2 -300 -20.0 20.0|30 6 3NN= v2 400 90.0 -90.0
2115 64 O= v2 -1370 -101.0 101.0| 531 3NV= v5 -400 -65.0 65.0(|32 4 3NV-1 v2 100 -47.0 470
23 13 64 O= 42 -1370 -101.0 101.0|20 16 3BNO= v2 -400 -65.0 65.0(|11 25 3NS-1 v9 -50 -115.0 115.0
29 7 66 V= «Q -1370 -101.0 101.0| 8 28 44 V= vJ -420  -79.0 79.0(12 24 3NS-1 v4 -50 -115.0 1150
30 6 6 V= ¢8 -1370 -101.0 101.0 (10 26 4e V= vlJ -420  -79.0 79.0|17 19 3NS-1 v¥9 -50 -115.0 115.0
33 3 66 V= vA -1370 -101.0 101.0 (14 22 4e V= vJ -420  -79.0 79.0|21 15 3NN-1 «Q -50 -115.0 115.0
35 1 66 V= 47 -1370 -101.0 101.0|23 13 44 V= vJ -420  -79.0 79.0|33 3 3NS-1 ¥9 -50 -115.0 1150
37 40 6¢ O= 3 -1370 -101.0 101.0|29 7 4a V= vlJ -420  -79.0 79.0|37 40 3NS-1 v4 -50 -115.0 115.0
41 36 66 O= 42 -1370 -101.0 101.0|33 3 4a4 V= v8 -420  -79.0 79.0|39 38 3NS-1 v¥9 -50 -115.0 115.0
42 18 6¢ V= 47 -1370 -101.0 101.0|34 2 44 V= vJ -420  -79.0 79.0|41 36 3NS-1 v9 -50 -115.0 1150
17 19 6NO= 2 -1440 -132.0 132.0|37 40 44 V= vJ -420  -79.0 79.0|42 18 3NS-1 ¥vT -50 -115.0 115.0
55 « KDKn4 56 10 57 « Kn753
Syd v K9863 Vast v Kn98 Nord vKn32
Alla ¢ D42 Ingen 4109832 ov + K105
&5 #KDKn9 #1097
4532 4 E96 4 EKKn32 4874 « D94 4 K2
v DKn52 vE1074 vE7632 vK vK4 vE
¢- ¢ 953 ¢D ¢ EKKn65 ¢ Kn9874 ¢ ED632
#KDKn1072 #E84 *E4 #8652 *K63 #EDKn84
« 1087 « D965 « E1086
v- vD1054 v D1098765
¢ EKKn10876 ¢ 74 ¢-
#963 #1073 &52
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr ut Res Poang
11 27 3¢ S+2 #K 150 72.0 -72.0(42 19 64 V-2 &K 100 197.0 -197.0|15 23 7¢DO-1 «A 200 271.0 -271.0
13 25 3¢ S+2 #K 150 720 -72.0| 9 29 74 V-1 &K 50 184.0 -184.0 (42 19 6¢ O-1 «A 100 250.0 -250.0
15 23 3¢ S+2 +3 150 72.0 -72.0(11 27 64 V-1 &K 50 184.0 -184.0| 9 29 3vDS-1 +8 -100 209.0 -209.0
18 20 3¢ N+2 &#K 150 72.0 -72.0(22 16 64 V-1 &K 50 184.0 -184.0|38 41 5vDS-2 #3 -300 154.0 -154.0
21 17 3¢ S+2 92 150 720 -72.0|30 8 64 V-1 &K 50 184.0 -184.0(35 3 5¢vDS-3 ¢4 -500 92.0 -92.0
24 14 3¢ S+2 &K 150 720 -720(33 5 64 V-1 &K 50 184.0 -184.0| 1 37 54 0= v5 -600 61.0 -61.0
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3¢ N+2 &K 150 720 -72.0(21 17 3NO= v2 -400 31.0 -31.0(18 20 5¢ O= v2 -600 61.0 -61.0
4¢ S+1 &K 150 72.0 -72.0|124 14 44 V+1 #K -450 140 -140(31 7 5¢ O= &5 -600 61.0 -61.0
3¢ S+2 &K 150 720 -720(31 7 44 V+1l &K -450 140 -14.0(40 39 5¢ O= vT -600 61.0 -61.0
4¢ S+1 &K 150 720 -72.0(35 3 44 V+1 &K -450 140 -140(33 5 5¢ O+1 &5 -620 53.0 -53.0
3¢ S+2 &K 150 720 -72.0( 1 37 54 O+1 #K -480 7.0 -7.0(21 17 4NO+1 2 -660 36.0 -36.0
3¢ S+2 &K 150 720 -72.0| 6 32 44 O+2 &5 -480 7.0 -7.0(22 16 3NO+3 2 -690 250 -25.0
3¢ S+2 #K 150 72.0 -72.0(12 26 44 V+2 &K -480 7.0 -7.0(28 10 6¥DN-4 ¢A -800 -12.0 12.0
4¢ S= &K 130 540 -54.0(13 25 44 V+2 &K -480 7.0 -7.0136 2 6vDS-4 ¢4 -800 -12.0 12.0
54 V-1 &K 100 36.0 -36.0|15 23 64 V= &K -980 -169.0 169.0| 6 32 6¢ V= v2 -1370 -183.0 183.0
54 V-1 ¢2 100 36.0 -36.0|18 20 64 O= &K -980 -169.0 169.0 (11 27 6¢ O= «A -1370 -183.0 183.0
5 V= 2 -600 -192.0 192.0 (28 10 64 V= &K -980 -169.0 169.0 (13 25 6¢ O= A -1370 -183.0 183.0
3NS-6 #K -600 -192.0 192.0(34 4 64 V= &K -980 -169.0 169.0 (24 14 6¢ O= A -1370 -183.0 183.0
3NV+1l  ¢K -630 -198.0 198.0(36 2 64 V= &K -980 -169.0 169.0 (30 8 6¢ O= A -1370 -183.0 183.0
49DO= +¢A -790 -234.0 234.0 (40 39 64 V= &K -980 -169.0 169.0(34 4 6¢ O= v9 -1370 -183.0 183.0
3DV +1 &K -870 -246.0 246.0(38 41 3#DN-5 vK -1100 -204.0 204.0|12 26 6NV +1 2 -1470 -212.0 212.0
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